
                                                                           ������� / Assignment 

                                                                              BIOLOGY /  �����     

���� : ���-  �!"#��                                                                                                                        Marks: 25 

Subject: Bio-botany                                                                                                                                   12�3�4:25 

5"46 12�3�4 #7�89: / Two marks questions                                                                             2×3=6                 

01. DE3�FGEH��GE7?/ What is synteny? 
02. 1"�L !�"���M2E ���7 �NO�P69./ List out the use of Genetic map 
03. �:S T621�UH� GEH�� GE7? / what is point mutation 

VEW 12�3�4 #7�89: / Three mark question                                                                                 3×3=9                 

04. DZ!�9 [�1#�7 �"�EZ !�9 [�1#P\]^ _!W�6M^9. / Differentiate Cis 
Configuration from  Trans Configuration 

05. 1O�M2E b8c�M^!M�  Gd^9 / Write the significance of ploidy 
06. ��gN6 [�h�9: GEH�� GE7?/ What is multiple Alleles? 

i]^ 12�3�4 #7�89: / Five mark questions                                                                                      5×•2=10 

07. 31n�o� 1O�M2E !�99�ள ��� !�"9 / Draw the diagram f different type of Aneuplody 
08. Vo8gW [ள#o�7 T621�UH !�9 rsM^ DWrs��  \9 / Write short notes molecular 

basis mutation 
 

���� : ���- #otc��                                                                                                                         Marks: 25 

Subject: Bio-botany                                                                                                                                 12�3�4 :25 

5"46 12�3�4 #7�89:  / Two marks questions                                                                          2×3=6                   

01. [) ZIFT  w) ICSI #�!�89�  \9?/ Expand the following a) ZIFT  b)ICSI 
02. 9\839��o 1UW� Dz39��o _!W�6M^9. / Differentiate foeticide and infanticide 
03. ���T�{]  �6tr �4� 1"�89�M � w49S� |E [29� 9�}��6cEH7. 

/ Why are sex linked recessive Character mostly occur in male? 

VEW 12�3�4 #7�89: / Three mark question                                                                               3×3=9                   

04. �F8r� ^�ள�� GE�^ ��^? 5M3 �~� �N�M2Ur TN� �2��7  ��#2��^ 
|E?/What is amniocentesis? Why are statutory ban imposed on this technique? 

05. r_"��_1�_T�� 3 �r�� !�"���M2E ��E9�ள Gd^9 / Write uses of Karyotype 
06. �1^ 5]2� ��NO� bd�1��7 57�3�\89 w_"�8c�M�  [��� _1U39�:ள 

_!4O� �M29: ���!?/ What are the Strategies to be implemented in India to attain total 
Reproductive health? 

i]^ 12�3�4 #7�89: / Five mark questions                                                                                    5×2=10 

07. �H�� 9N6��6 b�H9: rsM  9\M^ !�"���M2�7 !�"9 / Draw the concept map for 
Birth control method 

08. 1"� [O������ 1F FE  ABO 5"M  !�9�� #!� / Explain the Genetic basis of ABO 
blood grouping in man 

 


